ASSEMBLY FOR 2 BIKE / SINGLE SIDED VELO STAND ASSEMBLY FOR 4 BIKE / DOUBLE SIDED VELO STAND

STEP 1 STEP 1 To expand the Velo Stand to hold 4 bikes, use the EXP-24 accessory product.

FIGURE 4.1

FIGURE 1

To make 2 bike into 4 bike stand, you need to change the
location of the 2 silver pins for proper location of legs.

1. Use hammer to tap out pins on base plate

Lower Baseplate
1. To position plates for leg assembly, insert 2. Re-install pins in new location with hammer
1/4" X2 1/2" screw through both baseplates
and tighten screw 3 to 4 turns into column.
T-slots
Flat Cut End STEP 2
1/4” X2 1/2" Screw HGURE 42
Bumps face each other
. . . This end 3. Lay column on table
Pins on plate that fits against column Must be up
Pins face away from column 4. Position 4 bike leg between plates, pins face away from column
—_— I 5. Turn 1/4” screw into column 3 to 4 turns
STEP 2 Long leg LY Flatcut
I
I : End
FIGURE 2 . .
4 Bike Leg from EXP 24 kit
1/4X21/2" Screw Q ° Ql
2 2. Position SIDE leg betwee_n bumps and pin NOTE: Side legs and front leg have different whole positions
(About 30 degrees from horizontal)
Side Legs
3. Finger tighten both screws [o Ql
IIII (Repeat steps for other side leg) o @)
SO FRONT LEG Not needed for 4 bike assembly
~ Lower [ o Ql
Baseplate | Baseplate
- - - V0 with pins Bumps on plates should
NOTE: Side legs and front leg have different whole positions 11 |
L face each other.
516 X2 1/2" Screw Side Legs Adjustable Foot
[o (@) Goes In Back
[o @]
Front Leg
| [¢] ( Il NOTE: Adjustable foot to stabilize stand on non-level floors

STEP 3

FIGURE 3

FIGURE 4.3

4, Remove 1/4" top screw
5. Install front leg with foot away from column
6. Reinstall screw though base plate and leg, finger tighten |

7. Tighten all 3 screws with screw driver. Do not over tighten! : | 1 at 90 degrees from 4 bike leg 5/16 screws
P! ! through baseplate and leg.
1

6. Position Side Leg between bumps and pin

1/4X21/2" Screw
7. Finger tighten both screws

®

FIGURE 4

The joiner plates will be installed in the upper column already.
1. Slide the upper column onto the lower column. 5/16 X2 1/2" screw
2. Install the 3 screws, then tighten all 6 screws.

Joiner plate-A
P 8. Tighten all 3 screws with screw driver. Do not over tighten!

Adjustable Foot

-

<] O]

Joiner plate-B STEP 4 NOTE: You have two options for positioning cradle arms
fig 4.4 Staggered cradle arm assembly

e -]
\ M5 x 14mm Panhead machine screw FIGURE 4.4 ST A G G E RE D
‘é >] RIGHT ARMS
® (]
USE 3/8” screws

g ~— g 3/8” screws ( Strip Nut ) . .
e s 1. Loosely install strip nut onto cradle arms with 3/8” screws
M5 x 10mm Flat head machine screw,

2. Slide cradle arms into column with strip nut going into slot
3. Slide cradle arms to desired height and tighten both screws
3/8" screws (

(Repeat steps for all cradle arms)

STEP 5
FIGURE 5
Strip Nut
Right Arm FIGURE 45
HORIE e E > E fig 4.5 Stacked cradle arm assembly
STACKED USE 1/2” screws
RIGHT ARM

1. Loosely install strip nut onto cradle arms with 1/2” screws
2. Slide cradle arms into column with strip nut going into slot
3. Slide cradle arms to desired height and tight both screws
(Repeat steps for all cradle arms)

Cradle Strip Nut
Left Arm 1. Loosely install strip nut onto cradle arm with 3/8" screws
2. Slide cradle arm into column with strip nut going into slot
3. Slide cradle arm to desired height and tighten both screws
(Repeat steps for all cradle arms) FEEDBHCK
SPORTS FEEDBACK SPORTS, LLC
GOLDEN, COLORADO
1(800) 975-2854
TechSupport@feedbacksports.com

Strip Nut




